BORILLA oPORTS

Bench Extension (30000010)




HUORILLA 3PORTS
© @ ©

Hex Bolt: (M10%75)

@ I

Hex Bolt: (M10%70) Hex Bolt: (M10%20)

BN

| S

Hex Bolt: (M10%65) Hex Bolt: (M8*20)

I @mmmm




PUORILLA oPORTS

Dimensions complete: 97 cm x 49 cm x 76-87 cm
Maximum loading: 120KG




T

0

(U
Hex Bolt (M10%65)—-1PCS Hex Bolt (M10%20)—-1PCS

x©,
)

Washer ([10) -3pcs Hex Nut (M10)-1PCS

MM

Hex Bolt (M8%20)—-4PCS

Washer (¢8) -4PCS

Foam

Foam Tube ]




G

M10%65 @10

Hex Bolt (M10%70)—-2PCS

AV

—

©

Hex Bolt (M10%65)-1PCS

Hex Bolt (M10%20)—-1PCS

7N
)

Washer ([10) -7pcs Hex Nut (M10)—3PCS




@F&% PAN-HEAN Bolt (#10%65)-1PCS

PN

7 @4
N\

Washer ([10) —2pcs  Hex Nut (M10)-1PCS




	30000010(安装说明书) Model (1)
	30000010(安装说明书) Model (2)
	30000010(安装说明书) Model (3)
	30000010(安装说明书) Model (1)1
	30000010(安装说明书) Model (2)2
	30000010(安装说明书) Model (1)3

